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QUESTION 1

You must define VLANs as untagged, tagged, or using VLAN pooling. 

In this scenario, where would you accomplish this task in the Juniper Mist UI? 

A. site settings 

B. WLAN settings 

C. organization settings 

D. policy settings 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, as part of the Throughput SLE in the Mist UI, the Coverage classifier indicates the signal
strength of which device? 

A. the AP\\'s radio strength 

B. the signal strength between APs 

C. the client 

D. the AP\\'s radio for a single SSID 

Correct Answer: C 
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QUESTION 3

According to the Coverage SLE, which classifier tracks an AP that transmits at a lower data rate than a connected
client? 

A. Latency 

B. Slow OKC Roam 

C. Asymmetry Downlink 

D. Device Capability 

Correct Answer: B 

 

QUESTION 4

Which two authentication methods would be used with a guest portal? (Choose two.) 

A. social login 

B. external portal 

C. RSA 

D. Kerberos 

Correct Answer: AB 

 

QUESTION 5

Click the Exhibit button. 
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A user opened a ticket. Upon troubleshooting, you determine that frequent roaming is the root cause of the problem.
Referring to the exhibit, which statement describes the roaming issue that the client is experiencing? 

A. There are frequent roams between different protocols. 

B. There are frequent roams between different bands. 

C. There are frequent roams between different WLANs. 

D. There are frequent roams between different access points. 

Correct Answer: D 
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